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MATHEMATICS 
1. The value of 

3 4 5 6 7 8log 4log 5log 6log 7log 8log 9 is 

(a) 1 (b) 2 
(c) 3 (d) 4 

 

 1. 
3 4 5 6 7 8log 4log 5log 6log 7log 8log 9  dk eku gS 

(a) 1 (b) 2 
(c) 3 (d) 4 

 

2. The set of real values of x satisfying 
2

1/2log ( 6 12) 2x x     is 

(a)  ,2  (b) [2, 4]  

(c)  4,  (d) None of these 
 

 2. 2
1/ 2log (x 6x 12) 2     dks lUrq"V djus okys x ds 

ekuksa dk leqPp; gS 

(a)  ,2  (b) [2, 4]  

(c)  4,  (d) buesa ls dksbZ ugha 
 

3. Each observation of a raw data whose 
variance is 

2 is multiplied by n. What is 
the variance of the new set?  
(a) 2  (b) 22n  
(c) 2n  (d) n/2   

 3. izR;sd izs{k.k fdlh vO;ofLFkr vkadM+s dk ftldk 
izlj.k 2 , n ls xq.kk fd;k x;k gS rks dks leqPp; 
dk u;k izlj.k gksxk&  
(a) 2  (b) 22n  
(c) 2n  (d) n/2   

4. Let {( , ) : , }xA x y y e x R   , 

{( , ) : , }.xB x y y e x R    Then  

(a) A B    (b) A B    

(c) 2A B R   (d) None of these 
 

 4. ekuk xA {(x, y) : y e ,x R}   ,
xB {(x, y) : y e ,x R}   , rc 

(a) A B    (b) A B    

(c) 2A B R   (d) buesa ls dksbZ ugha 
 

5. If A, B and C are any three sets, then A × 
(BC) is equal to  
(a) (A × B)  (A × C) (b) (AB) × (AC) 
(c) (A × B)  (A × C) (d) None of these 

 

 5. ;fn A, B rFkk C rhu leqPp; gSa, rcA (B C)   = 
(a) (A × B)  (A × C) (b) (AB) × (AC) 
(c) (A × B)  (A × C) (d) buesa ls dksbZ ugha 

 

6. R is a relation over the set of real numbers 
and it is given by 0nm  . Then R is  
(a) Symmetric and 

transitive 
(b) Reflexive and 

symmetric  
(c) A partial order 

relation  
(d) An equivalence 

relation  
 

 6. R, okLrfod la[;kvksa ds leqPp; ij lEcU/k gS rFkk 
nm 0 , ¼tgk¡ no m okLrfod la[;k;sa gSa½] rc R gS 
(a) lefer rFkk laØed (b) LorqY; rFkk lefer 

(c) vkaf'kd dksfV lEcU/k (d) ,d rqY;rk lEcU/k 
 

7. A = {1, 2, 3} and B = {3, 8}, then  (AB) × 
(AB) is  
(a) {(3, 1), (3, 2),      

(3, 3), (3, 8)}  
(b) {(1, 3), (2, 3),       

(3, 3), (8, 3)} 
(c) {(1, 2), (2, 2),      

(3, 3), (8, 8)} 
(d) {(8, 3), (8, 2),      

(8, 1), (8, 8)}  
 

 7. A = {1, 2, 3} rFkk B = {3, 8}, rc (AB) × 
(AB) gS 
(a) {(3, 1), (3, 2), (3, 3), 

(3, 8)}  
(b) {(1, 3), (2, 3), (3, 3), 

(8, 3)} 
(c) {(1, 2), (2, 2), (3, 3), 

(8, 8)} 
(d) {(8, 3), (8, 2), (8, 1), 

(8, 8)}  
 

8. Of the members of three athletic teams in a 
school 21 are in the cricket team, 26 are in 
the hockey team and 29 are in the football 
team. Among them, 14 play hockey and 
cricket, 15 play hockey and football, and 12 
play football and cricket. Eight play all the 
three games. The total number of members 
in the three athletic teams is   
(a) 43 (b) 76 
(c) 49 (d) None of these 

 

 8. ,d fo|ky; dh rhu ,FkysfVDl Vhe ds lnL;ksa esa 
ls 21 fØdsV Vhe esa, 26 gkWdh Vhe esa rFkk 29
QqVcky Vhe esa gaSA buesa ls 14 gkWdh vkSj fØdsV] 15
gkWdh vkSj QqVcky rFkk 12 QqVcky vkSj fØdsV 
[ksyrs gSaA 8 lnL; rhuksa [ksy [ksyrs gSa] rc rhuksa 
,FkysfVDl Vhe ds lnL;ksa dh dqy la[;k D;k gksxh  
 
(a) 43 (b) 76 
(c) 49 (d) buesa ls dksbZ ugha 
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9. 
If

4
1 cos isin

cosn isin n
i sin icos

          
, 

then n is equal to : 
(a) 1 (b) 2 

(c) 3
 

(d) 4 
 

 9. 
;fn

4
1 cos isin

cosn isin n
i sin icos

          
, rc 

n cjkcj gS 
(a) 1 (b) 2 

(c) 3
 

(d) 4 
 

10. 10(1 )i , where 2 1,i    is equal to 

(a) 32 i (b) 64 + i 
(c) 24 i – 32 (d) None of these 

 

 10. 10(1 i) ] tcfd 2i 1  ] dk eku gS 
(a) 32 i (b) 64 + i 
(c) 24 i – 32 (d) buesa ls dksbZ ugha 

 

11. 
If 1,i    then 

334

1 3
4 5

2 2

i 
    

 
   

365

1 3
3

2 2

i 
    

 
is equal to 

(a) 1 3i  (b) 1 3i   
(c) 3i  (d) 3i  

 

 11. 
;fn 1i   gks] rks

334

1 3
4 5

2 2

i 
    

 
   

365

1 3
3

2 2

i 
    

 
 cjkcj gS& 

(a) 1 3i  (b) 1 3i   
(c) 3i  (d) 3i  

 

12. Consider the following statement:  
"The mean of a binomial distribution is 3 
and variance is 4". Which of the following is 
correct regarding this statement?  
(a) It is always true  (b) It is sometimes 

true  
(c) It is never true  (d) No conclusion can 

be drawn  
 

 12. fuEu dFkuksa  dk voyksdu dhft,&  
fdlh f}vk/kkjh forj.k  dk ek/; 3 rFkk izlj.k 4 
gSA fuEu esa ls dkSu dFku lR; gs\  
(a) ;g lnSo lR; gksxk (b) ;g dHkh&dHkh lR; 

gksxk  
(c) ;g dHkh lR; ugha 

gksxk  
(d) dksbZ ifj.kke Kkr ugha 

fd;k tk ldrk 
 

13. The value of i1/3 is 

(a) 3

2

i
 (b) 3

2

i
 

(c) 1 3

2

i
 (d) 1 3

2

i
 

 

 13. i1/3 dk eku  gS 

(a) 3

2

i
 (b) 3

2

i
 

(c) 1 3

2

i
 (d) 1 3

2

i
 

 

14. If 3 4i  is a root of the equation 
2 0x px q    (p, q are real numbers), then 

(a) 6, 25p q   (b) 6, 1p q   

(c) 6, 7p q     (d) 6, 25p q    
 

 14. ;fn3 4i lehdj.k 2x px q 0    dk ,d ewy gS 
(p rFkk q okLrfod la[;k;sa gSa), rc 
(a) 6, 25p q   (b) 6, 1p q   

(c) 6, 7p q     (d) 6, 25p q    
 

15. If 2/3 1/32 2 2 ,x    then 3 26 6x x x    

(a) 3 (b) 2 
(c) 1 (d) None of these 

 

 15. ;fn 2/3 1/3x 2 2 2 ,   rc 3 2x 6x 6x    

(a) 3 (b) 2 
(c) 1 (d) buesa ls dksbZ ugha 

 

16. The values of a for which 
22 2(2 1) ( 1) 0x a x a a      may have 

one root less than a and other root greater 
than a are given by  
(a) 1 0a   (b) 1 0a    
(c) 0a   (d) 0 or  1a a    

 

 16. a ds fdl eku ds fy;s lehdj.k 
22x 2(2a 1) x a(a 1) 0      dk ,d ewy a ls 

NksVk o nwljk ewy a ls cM+k gksxk 

(a) 1 0a   (b) 1 0a    
(c) 0a   (d) 0 or  1a a    
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17. The sum can be found of an infinite G.P. 
whose common ratio is r   
(a) For all values of r

  
(b) For only positive 

value of r  

(c) Only for 0 1r   (d) Only for 
1 1( 0)r r     

 

 17. ml vuUr xq.kksÙkj Js.kh dk] ftldk lkoZvuqikr r
gks] ;ksx Kkr fd;k tk ldrk gS 
(a) rds lHkh ekuksa ds 

fy, 
(b) rds dsoy /kukRed 

ekuksa ds fy, 

(c) dsoy0 r 1  ds fy, (d) dsoy
1 r 1, (r 0)    ds 

fy;s 
 

18. If , ,a b c  are three distinct positive real 
numbers which are in H.P., then 
3 2 3 2

2 2

a b c b

a b c b

 


 
 is 

(a) Greater than or 
equal to 10 

(b) Less than or equal 
to 10 

(c) Only equal to 10 (d) None of these 
 

 18. ;fn a, b, c fHké-fHké /kukRed okLrfod la[;k;sa gSa] 
tks fd gjkRed Js.kh esa gSa] rks
3a 2b 3c 2b

2a b 2c b

 


 
gS 

(a) 10 ls cM+k ;k cjkcj (b) 10 ls de ;k cjkcj 
(c) 10 ds cjkcj (d) buesa ls dksbZ ugh 

 

19. The 9th  term of the series 
2 6

27 9 5 3 ........
5 7

     will be  

(a) 
10

1
17

 (b) 
10

17
 

(c) 
16

27
 (d) 

17

27
 

 

 19. Js.kh 
2 6

27 9 5 3 ........
5 7

    dk 9ok¡ in gS 

(a) 
10

1
17

 (b) 
10

17
 

(c) 
16

27
 (d) 

17

27
 

 

20. The sum of the series 
2 31 2 3 4 .........x x x    upto n  terms is 

(a) 1

2

1 ( 1)

(1 )

n nn x nx

x

  


 (b) 1
1

nx

x




 

(c) 1nx   (d) None of these 
 

 20. Js.kh  2 31 2x 3x 4x .........    dk n inksa rd 
;ksx gS 
(a) 1

2

1 ( 1)

(1 )

n nn x nx

x

  


 (b) 1

1

nx

x




 

(c) 1nx   (d) buesa ls dksbZ ugha 
 

21. The number of arrangements of the letters of 
the word CALCUTTA   
(a) 2520 (b) 5040 
(c) 10,080 (d) 40,320 

 

 21. 'kCn CALCUTTA ds v{kjksa dks O;ofLFkr djus dh 
la[;k& 
(a) 2520 (b) 5040 
(c) 10,080 (d) 40,320 

 

22. Value of r for which 15 15
3 2 6r rC C   is 

(a) 2 (b) 4 
(c) 6 (d) –9 

 

 22. ;fn 15 15
3 2 6r rC C  rks r dk eku gS& 

(a) 2 (b) 4 
(c) 6 (d) –9 

 

23. In an election there are 8 candidates, out of 
which 5 are to be choosen. If a voter may 
vote for any number of candidates but not 
greater than the number to be choosen, then 
in how many ways can a voter vote 
(a) 216 (b) 114 
(c) 218 (d) None of these 

 

 23. ,d pquko esa 8 mEehnokj gaS] ftlesa ls 5 mEehnokjksa 
dks pquuk gSA ;fn dksbZ ernkrk fdrus Hkh mEehnokjksa 
dks oksV ns ldrk gS ysfdu ;g dqy pqus tkus okys 
mEehnokjksa dh la[;k ls vf/kd u gks] rks ernkrk 
fdrus vyx&vyx rjhdksa ls oksV ns ldrk gSA 
(a) 216 (b) 114 
(c) 218 (d) buesa ls dksbZ ugha 

 

24. In a touring cricket team there are 16 players 
in all including 5 bowlers and 2 wicket-
keepers. How many teams of 11 players 
from these, can be chosen, so as to include 
three bowlers and one wicket-keeper 
(a) 650 (b) 720 
(c) 750 (d) 800 

 

 24. ,d i;ZVdh fØdsV Vhe esa 5 xsanckt vkSj 2 fodsV 
dhij lfgr 16 f[kykM+h gSA muesa ls fdrus izdkj ls 
11 f[kykfM+;ksa dks pquk tk ldrk gS ftlesa rhu 
xsanckt vkSj ,d fodsV dhij gks& 
(a) 650 (b) 720 
(c) 750 (d) 800 
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25. The letters of the word MODESTY are 
written in all possible orders and these 
words are written out as in a dictionary, then 
the rank of the word MODESTY is 
(a) 5040 (b) 720 
(c) 16781 (d) 2520 

 

 25. MODESTRY  'kCn ds v{kjksa dks lHkh lEHkkfor Øe 
esa fy[krs gS vkSj bu 'kCnksa dks 'kCndks"k dh rjg 
fy[kk tkrk gS rks 'kCn MODESTY Øe gS& 

(a) 5040 (b) 720 
(c) 16781 (d) 2520 

 

26. One card is drawn from a pack of 52 cards. 
The probability that it is a king or diamond 
is 

(a) 
1

26
 (b) 

3

26
 

(c) 
4

13
 (d) 

3

13
 

 

 26. 52 iÙkksa dh rk'k dh ,d xìh ls ,d iÙkk [khaps tkus 
ij mlds ckn'kkg ;k bZV dk iÙkk gksus dh çkf;drk 
gS 

(a) 
1

26
 (b) 

3

26
 

(c) 
4

13
 (d) 

3

13
 

 

27. In a simultaneous toss of four coins, what is 
the probability of getting exactly three heads 

(a) 
1

2
 (b) 

1

3
 

(c) 
1

4
 (d) None of these 

 

 27. 4 flôksa dks ,d lkFk mNkyus ij Bhd rhu 'kh"kZ 
çkIr djus dh çkf;drk gS 

(a) 
1

2
 (b) 

1

3
 

(c) 
1

4
 (d) buesa ls dksbZ ugha 

 

28. If X follows a binomial distribution 
with parameters 6n  and p and 
4 ( ( 4)) ( 2),P X P X    then p  is equal 
to 

(a) 
1

2
 (b) 

1

4
 

(c) 
1

6
 (d) 

1

3
 

 

 28. ;fn çkpyksa 6n  o p  ds fy, X f}in  caVu dk 
ikyu djrk gS rFkk 4 ( ( 4)) ( 2),P X P X    rks
p  cjkcj gS  

(a) 
1

2
 (b) 

1

4
 

(c) 
1

6
 (d) 

1

3
 

 

29. The probability of happening an event A is 
0.5 and that of B is 0.3. If A and B are 
mutually exclusive events, then the 
probability of happening neither A nor B is 
(a) 0.6 (b) 0.2 
(c) 0.21 (d) None of these 

 

 29. ,d ?kVuk  A ds ?kfVr gksus dh çkf;drk 0.5 gS rFkk 
B ds ?kfVr gksus dh çkf;drk  0.3 gSA ;fn  A rFkk B
ijLij viothZ ?kVuk,¡ gksa] rks u rks A vkSj u gh B
ds ?kfVr gksus dh çkf;drk gS 
(a) 0.6 (b) 0.2 
(c) 0.21 (d) buesa ls dksbZ ugha 

 

30. It is given that xX 10,Y 90,  3,     

y 12  and xyr 0.8 . The regression 

equation of X on Y is  
(a) Y 3.2X 58   (b) X 3.2Y 58   
(c) X 8 0.2Y    (d) Y 8 0.2X    

 

 30. og  fn;k x;k gaS fd xX 10,Y 90,  3,     

y 12   vkSj xyr 0.8 gSA Y ij X dk lekJ;.k 

lehdj.k D;k gksxk\ 
(a) Y 3.2X 58   (b) X 3.2Y 58   
(c) X 8 0.2Y    (d) Y 8 0.2X    

 

31. If Mohan has 3 tickets of a lottery 
containing 3 prizes and 9 blanks, then his 
chance of winning prize are 

(a) 
34

55
 (b) 

21

55
 

(c) 
17

55
 (d) None of these 

 

 31. ;fn eksgu ds ikl ,d ykWVjh ds] ftlesa 3 buke 
rFkk 9 fjä gSa] 3 fVdV gksa] rks eksgu ds buke thrus 
dh çkf;drk gS 

(a) 
34

55
 (b) 

21

55
 

(c) 
17

55
 (d) buesa ls dksbZ ugha 
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32. 
If 

1 1
( ) , ( )

2 3
P A P B   and 

7
( ) ,

12
P A B   

then the value of ( )P A B   is 

(a) 
7

12
 (b) 

3

4
 

(c) 
1

4
 (d) 

1

6
 

 

 32. 
;fn  

1 1
( ) , ( )

2 3
P A P B   ,oa 

7
( ) ,

12
P A B   rks 

( )P A B   dk eku gS 

(a) 
7

12
 (b) 

3

4
 

(c) 
1

4
 (d) 

1

6
 

 

33. The variance of 20 observations is 5. If each 
observation is multiplied by 3, then what is 
the new variance of the resulting 
observations?  
(a) 5

 
(b) 10 

(c) 15 (d) 45 
 

 33. 20 Ikzs{k.kksa dk izlj.k 5 gSA ;fn izR;sd izs{k.k dks 3 ls 
xq.kk fd;k tk,] rks ifj.kkeh izs{k.kksa  dk u;k izlj.k 
D;k gksxk\  
(a) 5

 
(b) 10 

(c) 15 (d) 45 
 

34. Two dice are thrown simultaneously. What 
is the probability of obtaining a multiple of 
2 on one of them and a multiple of 3 on the 
other 

(a) 
5

36
 (b) 

11

36
 

(c) 
1

6
 (d) 

1

3
 

 

 34. nks ikals lkFk lkFk Qsads tkrs gSaA muesa ls ,d ij 2
dk xq.kt rFkk nwljs ij 3 dk xq.kt vkus dh 
çkf;drk gS 

(a) 
5

36
 (b) 

11

36
 

(c) 
1

6
 (d) 

1

3
 

 

35. The coefficient of 5x  in the expansion of 
6( 3)x  is  

(a) 18 (b) 6 
(c) 12 (d) 10 

 

 35. 6( 3)x ds foLrkj esa 5x dk xq.kkad gksxk 

(a) 18 (b) 6 
(c) 12 (d) 10 

 

36. If the sum of the coefficients in the
expansion of 2(1 3 10 )nx x   is a and if the
sum of the coefficients in the expansion of

2(1 )nx  is b, then    
(a) 3a b  (b) 3a b  
(c) 3b a  (d) None of these 

 

 36. ;fn 2(1 3 10 )nx x  ds foLrkj esa xq.kkadksa dk ;ksx a

rFkk 2(1 )nx  ds foLrkj esa xq.kkadksa dk ;ksx b gks] 
rks 
(a) 3a b  (b) 3a b  
(c) 3b a  (d) buesa ls dksbZ ugha 

 

37. If 2 6 2 12
1 2 12(1 2 ) 1 ....x x a x a x a x       , 

then the expression 2 4 6 12....a a a a    has 
the value 
(a) 32 (b) 63 
(c) 64 (d) None of these 

 

 37. ;fn 2 6 2 12
1 2 12(1 2 ) 1 ....x x a x a x a x       , rc 

O;atd 2 4 6 12....a a a a    dk eku gS 

(a) 32 (b) 63 
(c) 64 (d) buesa ls dksbZ ugha 

 

38. If A is a unit matrix of order n, then 
( )A adj A is 

(a) Zero matrix (b) Row matrix 
(c) Unit matrix (d) None of these 

 

 38. ;fn A, n dksfV dk bdkbZ vkO;wg gS rks ( )A adj A  
(a) 'kwU; vkO;wg (b) iafDRk vkO;wg 
(c) bdkbZ vkO;wg (d) buesa ls dksbZ ugha 

 

39. 
The inverse of 

2 3

4 2

 
  

is  

(a) 
2 31

4 28

 
 
 

 (b) 
3 21

2 48

 
 
 

 

(c) 
2 31

4 28

 
 
 

 (d) 
3 21

2 48

 
 
 

 
 

 39. 2 3

4 2

 
  

dk O;qRØe gS& 

(a) 
2 31

4 28

 
 
 

 (b) 
3 21

2 48

 
 
 

 

(c) 
2 31

4 28

 
 
 

 (d) 
3 21

2 48

 
 
 
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40. If ,a b c   the value of x which satisfies 

the equation 

0

0 0

0

x a x b

x a x c

x b x c

 
  
 

, is 

(a) 0x   (b) x a  
(c) x b  (d) x c  

 

 40. ;fn ,   a b c x ds fdl eku ds fy, leh0 

0

0 0

0

x a x b

x a x c

x b x c

 
  
 

lUrq"V djrk gS& 

(a) 0x   (b) x a  
(c) x b  (d) x c  

 

41. If 
0,3 3 0, 3 0x y z x y z x y z          

has non zero solution, then   
(a) –1 (b) 0 
(c) 1 (d) –3 

 

 41. ;fn 0,3 3 0, 3 0x y z x y z x y z          
ds v'kwU; gy gSa rks   
(a) –1 (b) 0 
(c) 1 (d) –3 

 

42. The value of the determinant  
3 3 3 3

3 3 3 3

3 3 3 3

0

0

0

b a c a

a b c b

a c b c

 
 
 

 is equal to 

(a) 3 3 3a b c   (b) 3 3 3a b c   
(c) 0 (d) 3 3 3a b c    

 

  
42. lkjf.kd 

3 3 3 3

3 3 3 3

3 3 3 3

0

0

0

b a c a

a b c b

a c b c

 
 
 

dk eku cjkcj 

gS& 
(a) 3 3 3a b c   (b) 3 3 3a b c   
(c) 0 (d) 3 3 3a b c    

 

43. If , ,a b c are unequal what is the condition 
that the value of the following determinant 

is zero 

2 3

2 3

2 3

1

1

1

a a a

b b b

c c c


  


 

(a) 1 0abc   (b) 1 0a b c     
(c) ( )( )( ) 0a b b c c a   

 
(d) None of these 

 

 43. fdl 'krZ ij uhps fn;s x;s lkjf.kd dk eku 'kwU; gS 

;fn a, b, c vleku gS&

2 3

2 3

2 3

1

1

1

a a a

b b b

c c c


  


 

(a) 1 0abc   (b) 1 0a b c     
(c) ( )( )( ) 0a b b c c a   

 
(d) buesa ls dksbZ ugha 

 

44. If the system of equations 0ax y z   , 
0x by z   and 0x y cz   , where 

, , 1,a b c  has a non trivial solution, then the 

value of 
1 1 1

1 1 1a b c
 

  
is 

(a) – 1 (b) 0 
(c) 1 (d) None of these 

 

 44. ;fn lehdj.k fudk; 0ax y z   , 
0x by z    vkSj 0x y cz   , ds ikl v'kwU; 

gy ugh gSa  tgk¡ 

, , 1,a b c   rks 1 1 1

1 1 1a b c
 

  
 dk eku  gS& 

(a) – 1 (b) 0 
(c) 1 (d) buesa ls dksbZ ugha 

 

45. Inverse of the function 2 3y x   is 

(a) 
3

2

x 
 (b) 

3

2

x 
 

(c) 
1

2 3x 
 (d) None of these 

 

 45. Qyu 2 3y x   dk O;qRØe.kh; gS% 

(a) 
3

2

x 
 (b) 

3

2

x 
 

(c) 
1

2 3x 
 (d) buesa ls dksbZ ugha 

 

46. Domain of ( ) log | log |f x x  is 

(a) (0, )  (b) (1, )  

(c) (0,1) (1, )   (d) ( , 1)  
 

 46. ( ) log | log |f x x dk izkUr gS% 
(a) (0, )  (b) (1, )  

(c) (0,1) (1, )   (d) ( , 1)  
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47. If X and Y are two non-empty sets where 
:f X Y is function  is defined such that 

 ( ) ( ) : f C f x x C for C X and 

 1( ) { : ( ) }f D x f x D   for D Y  for any 
A X  and ,B Y then 

(a) 1( ( ))f f A A   (b) 1( ( ))f f A A  only 
if ( )f x Y  

(c) 1( ( ))f f B B   only 
if ( )B f X  

(d) 1( ( ))f f B B   

 

 47. ;fn X vkSj Y nks vfjDr leqPp; gSa] tgk¡ 
:f X Y  ,d Qyu bl izdkj ifjHkkf"kr gS fd 

C X  ds fy;s]  ( ) ( ) : f C f x x C  vkSj 

D Y  ds fy;s 1( ) { : ( ) }f D x f x D    tgk¡ 
A X  vkSj ,B Y rks 
(a) 1( ( ))f f A A   (b) 1( ( ))f f A A  dsoy 

;fn ( )f x Y  

(c) 1( ( ))f f B B   dsoy 
;fn ( )B f X  

(d) 1( ( ))f f B B   

 

 
48. If 

2

2
lim 80

2

n n

x

x

x





, where n is a positive 

integer, then n  is equal to 
(a) 3 (b) 5 
(c) 2 (d) None of these 

 

  
48. ;fn 

2

2
lim 80

2

n n

x

x

x





 tgk¡ n ,d /kukRed iw.kkZad 

gS] rks n  cjkcj gS 
(a) 3 (b) 5 
(c) 2 (d) buesa ls dksbZ ugha 

 

 
49. If 

1 , when 2
( )

5 ,when 3

x x
f x

x x

 
   

, then 

(a) ( )f x is continuous 
at 2x   

(b) ( )f x is 
discontinuous at 

2x   
(c) ( )f x is continuous 

at 3x   

(d) None of these 

 

  
49. ;fn

1 , 2
( )

5 , 3

 tc  

 tc 

x x
f x

x x

 
   

rks 

(a) 2x  ij ( )f x lrr gS (b) 2x  ij ( )f x vlrr
gS 

(c) 3x  ij ( )f x lrr gS (d) buesa ls dksbZ ugha 
 

 
50. 2 2 2 2

1 2 3
lim ......
n

n

n n n n

     
 

is 

(a) 1/2 (b) 0 

(c) 1 (d)   
 

  
50. 2 2 2 2

1 2 3
lim ......
n

n

n n n n

     
 

 cjkcj gS% 

(a) 1/2 (b) 0 

(c) 1 (d)   
 

 
51. Let 

4 25 4
, 1, 2

| ( 1) ( 2 ) |

( ) 6 , 1

1 2 , 2

x x
x

x x

f x x

x

  
   

 


. Then 

( )f x is continuous on the set 

(a) R (b) {1}R   

(c) {2}R   (d) R – {1, 2} 
 

  
51. ekuk 

4 25 4
, 1, 2

| ( 1) ( 2 ) |

( ) 6 , 1

1 2 , 2

x x
x

x x

f x x

x

  
   

 


rks 

( )f x fdl leqPp; ij lrr gS 
(a) R (b) {1}R   

(c) {2}R   (d) R – {1, 2} 
 

52. The function defined by 
11

2 2 , 2
( )

, 2

xx e x
f x

k x




 
      



, is 

continuous from right at the point x = 2, then 
k is equal to 
(a) 0 (b) 1/4 

(c) –1/4 (d) None of these 
 

 52. ;fn x = 2 fcUnq ij ifjHkkf"kr Qyu 
11

2 2 , 2
( )

, 2

xx e x
f x

k x




 
      



 nk;ha rjQ ls 

lrr gS rks k cjkcj gS%  
(a) 0 (b) 1/4 

(c) –1/4 (d) buesa ls dksbZ ugha 
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53. 1(sin )
d

x
dx

  is equal to 

(a) 
2

1

1 x
 (b) 

2

1

1 x



 

(c) 
2

1

1 x
 (d) 

2

1

1 x




 

 

 53. 1(sin )
d

x
dx

 dk eku gS 

(a) 
2

1

1 x
 (b) 

2

1

1 x



 

(c) 
2

1

1 x
 (d) 

2

1

1 x




 

 

54. If 
2

2

1

1

t
x

t





and 

2

2

1

at
y

t



, then 

dy

dx
is    

equal to 

(a) 
2(1 )

2

a t

t


 (b) 

2( 1)

2

a t

t


 

(c) 
2( 1)

2

a t

t


 (d) 

2( 1)a t

t


 

 

 54. ;fn  
2

2

1

1

t
x

t





rFkk 2

2

1

at
y

t



, rc  

dy

dx
  

(a) 
2(1 )

2

a t

t


 (b) 

2( 1)

2

a t

t


 

(c) 
2( 1)

2

a t

t


 (d) 

2( 1)a t

t


 

 

55. 1 2 2sin (2 1 )
d

ax a x
dx

  
 
is equal to

 

(a) 
2 2

2a

a x
 (b) 

2 2

a

a x
 

(c) 
2 2

2

1

a

a x
 (d) 

2 21

a

a x
 

 

 55. 1 2 2sin (2 1 )
d

ax a x
dx

  
 
cjkcj gS 

(a) 
2 2

2a

a x
 (b) 

2 2

a

a x
 

(c) 
2 2

2

1

a

a x
 (d) 

2 21

a

a x
 

 

56. If ( sin )x a t t  and (1 cos )y a t  , then 

dy

dx
 equals 

(a) tan( / 2)t  (b) cot( / 2)t  

(c) tan 2t  (d) tan t  
 

 56. ;fn ( sin )x a t t   rFkk (1 cos )y a t  , rc 
dy

dx
 cjkcj gS 

(a) tan( / 2)t  (b) cot( / 2)t  

(c) tan 2t  (d) tan t  
 

57. The maximum and minimum values of the 
function | sin4 3|x are 

(a) 1, 2 (b) 4, 2 
(c) 2, 4 (d) – 1, 1 

 

 57. Qyu | sin 4 3 |x   ds mfPp"B ,oa fufEu"B eku gSa 

(a) 1, 2 (b) 4, 2 
(c) 2, 4 (d) – 1, 1 

 

58. If ( ) cos ,0
2

f x x x


   , then the real 

number ‘c’ of the mean value theorem is 

(a) 
6


 (b) 

4


 

(c) 1 2
sin  

  
 (d) 1 2

cos  
  

 
 

 58. ;fn ( ) cos ,0
2

f x x x


   , rks e/;eku çes; dh 

okLrfod la[;k‘c’gS 

(a) 
6


 (b) 

4


 

(c) 1 2
sin  

  
 (d) 1 2

cos  
  

 
 

59. A particle moves in a straight line so that 
s t , then its acceleration is proportional 
to 
(a) Velocity (b) (Velocity)3/2 
(c) (Velocity)3 (d) (Velocity)2 

 

 59. ,d d.k ljy js[kk esa s t  ds vuqlkj 
xfr'khy gks] rks d.k dk Roj.k lekuqikrh 
gksxk 
(a) osx (b) (osx)3/2 
(c) (osx)3 (d) (osx)2 
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60. A population p(t) of 1000 bacteria 
introduced into nutrient medium grows 
according to the relation 

2

1000
( ) 1000

100

t
p t

t
 


. The maximum size 

of this bacterial population is 
(a) 1100 (b) 1250 
(c) 1050 (d) 5250 

 

 60. 1000 thok.kqvksa dh tula[;k p(t) dks iks"kd ek/;e esa 

ços’k djkus ij ;g laca/k 2

1000
( ) 1000

100

t
p t

t
 


 ds 

vuqlkj o`f) djrh gS rks bu thok.kqvksa dh tula[;k 
dk vf/kdre vkdkj gS 

(a) 1100 (b) 1250 
(c) 1050 (d) 5250 

 

 
61. 2 2

dx

x a
 is equal to 

(a) 2 2 2 2 21 1
log( )

2 2
x x a a x x a c    

 
(b) 2 21

log( )
2

x a c   

(c) 2 2log( )x x a c    (d) 2 2log( )x x a c    
 

  
61. 2 2

dx

x a
  dk eku gS 

(a) 2 2 2 2 21 1
log( )

2 2
x x a a x x a c    

 
(b) 2 21

log( )
2

x a c   

(c) 2 2log( )x x a c    (d) 2 2log( )x x a c    
 

62. 2/3 4/3sec cosec x x dx  is equal to 

(a) 1/ 33(tan )x c   (b) 1/ 33(tan )x c   

(c) 1/ 33(tan )x c   (d) 1/ 3(tan )x c   
 

 62. 2/3 4/3sec cosec x x dx  cjkcj gS 

(a) 1/ 33(tan )x c   (b) 1/ 33(tan )x c   

(c) 1/ 33(tan )x c   (d) 1/ 3(tan )x c   
 

63. 1

cos (1 cos )
dx

x x
 
is equal to 

(a) log(sec tan ) 2 tan
2

x
x x c    (b) log(sec tan ) 2tan

2

x
x x c    

(c) log(sec tan ) tan
2

x
x x c    (d) log(sec tan ) tan

2

x
x x c    

 

 63. 1

cos (1 cos )
dx

x x
 
cjkcj gS 

(a) log(sec tan ) 2 tan
2

x
x x c    (b) log(sec tan ) 2tan

2

x
x x c    

(c) log(sec tan ) tan
2

x
x x c    (d) log(sec tan ) tan

2

x
x x c    

 

64. 2

0
( )

a
f x dx

  
is equal to 

(a) 
0

2 ( )
a

f x dx  (b) 0 

(c) 0 0
( ) (2 )

a a
f x dx f a x dx  

 (d) 
2

0 0
( ) (2 )

a a
f x dx f a x dx  

 
 

 64. 2

0
( )

a
f x dx

 
cjkcj gS 

(a) 
0

2 ( )
a

f x dx  
(b) 0 

(c) 
0 0

( ) (2 )
a a

f x dx f a x dx  
 (d) 2

0 0
( ) (2 )

a a
f x dx f a x dx  

 
 

65. / 2

0

cot

cot tan

x
dx

x x




 
is equal to 

(a)   (b)  /2 
(c)  /4 (d)  /3 

 

 65. / 2

0

cot

cot tan

x
dx

x x




  
cjkcj gS

 
(a)   (b)  /2 
(c)  /4 (d)  /3 

 

66. / 6 2

0
(2 3 )cos3x x dx


   

is equal to 

(a) 
1

( 16)
36

  (b) 
1

( 16)
36

  

(c) 21
( 16)

36
   (d) 21

( 16)
36

   
 

 66. / 6 2

0
(2 3 )cos3x x dx


    

cjkcj gS 

(a) 
1

( 16)
36

  (b) 
1

( 16)
36

  

(c) 21
( 16)

36
   (d) 21

( 16)
36

   
 

67. The points of intersection of 

1 2
( ) (2 5)

x
F x t dt   and 

2 0
( ) 2 ,

x
F x t dt  are 

(a) 
6 36

,
5 25

 
 
 

 (b) 
2 4

,
3 9

 
 
 

 

(c) 
1 1

,
3 9

 
 
 

 (d) 
1 1

,
5 25

 
 
 

 
 

 67. 
1 2
( ) (2 5)

x
F x t dt   rFkk 2 0

( ) 2
x

F x t dt   dk 

çfrPNsn fcUnq gS  

(a) 
6 36

,
5 25

 
 
 

 (b) 
2 4

,
3 9

 
 
 

 

(c) 
1 1

,
3 9

 
 
 

 (d) 
1 1

,
5 25

 
 
 
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68. 

1 1
20

2
sin

1

d x
dx

dx x
  
    

  is equal to 

(a) 0 (b)   
(c)  /2 (d)  /4 

 

  
68. 

1 1
20

2
sin

1

d x
dx

dx x
  
    

 cjkcj gS 

(a) 0 (b)   
(c)  /2 (d)  /4 

 

69. Solution of the differential equation 

sin
dy

a
dx

  with (0) 1y   is 

(a) 1 ( 1)
sin

y
a

x
 

  (b) 
( 1)

sin
y

a
x


  

(c) 
(1 )

sin
(1 )

y
a

x





 (d) sin

( 1)

y
a

x



 

 

  
69. vody lehdj.k sin

dy
a

dx
  dk (0) 1y   ds lkFk 

gy gksxk 
 

(a) 1 ( 1)
sin

y
a

x
 

  (b) 
( 1)

sin
y

a
x


  

(c) 
(1 )

sin
(1 )

y
a

x





 (d) sin

( 1)

y
a

x



 

 

70. The degree of the differential equation 
2

2
3

d y dy
x

dxdx
    is 

(a) 2 (b) 1 
(c) 1/2 (d) 3 

 

  
70. vody lehdj.k 

2

2
3

d y dy
x

dx dx
    dh ?kkr gS 

 
(a) 2 (b) 1 
(c) 1/2 (d) 3 

 

 
71. The solution of the equation 

2( )
dy

x y
dx
   is 

(a) tan( ) 0x y x c     (b) tan( ) 0x y x c     
(c) tan( ) 0x y x c     (d) None of these 

 

  
71. lehdj.k 

2( )
dy

x y
dx
   dk gy gS 

(a) tan( ) 0x y x c     (b) tan( ) 0x y x c     

(c) tan( ) 0x y x c     (d) buesa ls dksbZ ugha 
 

72. If 
x y

y
x y

 


, then its solution is 

(a) 2 22y xy x c    (b) 2 22y xy x c    

(c) 2 22y xy x c    (d) 2 22y xy x c    
 

 72. ;fn x y
y

x y

 


, rc bldk gy gS 

(a) 2 22y xy x c    (b) 2 22y xy x c    

(c) 2 22y xy x c    (d) 2 22y xy x c    
 

73. The differential equation 
2

2
2

sin 0
d y dy

x y x
dxdx

      is of the 

following type 
(a) Linear (b) Homogeneous 
(c) Order two (d) Degree one 

 

 
73. vody lehdj.k 

2
2

2
sin 0

d y dy
x y x

dx dx
     dk 

çdkj gS 

(a) js[kh; (b) le?kkr 
(c) dksfV 2 (d) ?kkr 1 

 

74. tan 9 tan 27 tan 63 tan81     is equal 
tos 
(a) 1/2 (b) 2 
(c) 4 (d) 8 

 

 74. tan 9 tan 27 tan 63 tan81     cjkcj gS 

(a) 1/2 (b) 2 
(c) 4 (d) 8 

 

75. The value cos105 sin105  is 

(a) 
1

2
 (b) 1 

(c) 2  (d) 
1

2
 

 

 75. cos105 sin105  dk eku gS 

(a) 
1

2
 (b) 1 

(c) 2  (d) 
1

2
 

 

76. Which of the following number(s) is/are 
rational 
(a) sin15  (b) cos15  
(c) sin15 cos15   (d) sin15 cos 75   

 

 76. fuEu esa ls dkSu lh la[;k ifjes; gSa@gS 
(a) sin15  (b) cos15  
(c) sin15 cos15   (d) sin15 cos 75   
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77. If sin cos 1   , then sin cos   is equal 
to 
(a) 0 (b) 1 
(c) 2 (d) 1/2 

 

 77. ;fn sin cos 1   , rc sin cos   cjkcj gS 
(a) 0 (b) 1 
(c) 2 (d) 1/2 

 

78. If 2 2tan 2tan 1,    then 2cos2 sin 
equals 
(a) –1 (b) 0 
(c) 1 (d) None of these 

 

 78. ;fn 2 2tan 2tan 1,   rc 2cos2 sin   cjkcj gS 

(a) –1 (b) 0 
(c) 1 (d) buesa ls dksbZ ugha 

 

79. If sin 2 sin 2 1/ 2    and 

cos 2 cos 2 3/ 2   , then 2cos ( )   is 
equal to 
(a) 3/8  (b) 5 / 8  
(c) 3/ 4  (d) 5 / 4  

 

 79. ;fn sin 2 sin 2 1/ 2    rFkk 

cos 2 cos 2 3/ 2   , rc 2cos ( )   cjkcj gS 

(a) 3/8  (b) 5 / 8  
(c) 3/ 4  (d) 5 / 4  

 

80. In a triangle ABC, the value of 
sin sin sinA B C   is 

(a) 4sin sin sin
2 2 2

A B C  (b) 4 cos cos cos
2 2 2

A B C  

(c) 4 cos sin sin
2 2 2

A B C  (d) 4 cos sin cos
2 2 2

A B C  
 

 80. f=Hkqt  ABC esa sin sin sinA B C  dk eku gS 

(a) 4sin sin sin
2 2 2

A B C  (b) 4 cos cos cos
2 2 2

A B C  

(c) 4 cos sin sin
2 2 2

A B C  (d) 4 cos sin cos
2 2 2

A B C  
 

 
81. 

1 11 1
cos 2sin

2 2
   is equal to 

(a) 
4


 (b) 

6


 

(c) 
3


 (d) 

2

3


 

 

  
81. 

1 11 1
cos 2sin

2 2
   cjkcj gSa& 

(a) 
4


 (b) 

6


 

(c) 
3


 (d) 

2

3


 

 

82. If 1 11 1
tan tan

1 2

x
x

x
 




, then x is equal to 

(a) 1 (b) 3  

(c) 
3

1  (d) None of these 
 

 82. ;fn 1 11 x 1
tan tan x

1 x 2
 




, rks x cjkcj gS 

(a) 1 (b) 3  

(c) 
1

3
 (d) buesa ls dksbZ ugha 

 

83. If tan( cos ) cot( sin )    , then 

sin
4

  
 

 equals 

(a) 
1

2
 (b) 

1

2
 

(c) 
1

2 2
 (d) 3

2
 

 

 83. 
;fn tan( cos ) cot( sin )     , rc sin

4

   
 

dk 

eku gksxk  

(a) 
1

2
 (b) 

1

2
 

(c) 
1

2 2
 (d) 3

2
 

 

84. If 2 25cos 7sin 6 0    , then the general 
value of  is 

(a) 2
4

n
   (b) 

4
n

   

(c) ( 1)
4

nn
    (d) None of these 

 

 84. ;fn 2 25cos 7sin 6 0    , rks   dk O;kid
eku  gS 

(a) 2
4

n
   (b) 

4
n

   

(c) ( 1)
4

nn
    (d) buesa ls dksbZ ugha 
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85. The coefficient of correlation when 
coefficients of regression are 0.2 and 1.8 is: 
(a) 0.36 (b) 0.2 
(c) 0.6 (d) 0.9 

 

 85. lglEcU/k xq.kkad D;k gksxk] ;fn lekJ;.k xq.kkad 
0-2 vkSj 1-8 gSa\ 
(a) 0.36 (b) 0.2 
(c) 0.6 (d) 0.9 

 

86. If 30 , 7 3oA c  and 90oC  in ABC , 
then a is equal to 

(a) 7 3  (b) 7 3

2
 

(c) 
7

2
 (d) None of these 

 

 86. ;fn f=Hkqt ABCesa, oA 30 ,c 7 3  rFkk oC 90 , 
rc  a  cjkcj gS 

(a) 7 3  (b) 7 3

2
 

(c) 
7

2
 (d) buesa ls dksbZ ugha 

 

87. If  the point (a, a) are placed in between the 
lines | | 4x y  , then 

(a) | a| = 2 (b) | a| = 3 
(c) | a| < 2 (d) | a| < 3 

 

 87. ;fn fcUnq (a, a) js[kkvksa | x y | 4  ds chp j[kk 
tk;s] rc 
(a) | a| = 2 (b) | a | 3  

(c) | a| < 2 (d) | a| < 3 
 

88. If points (5, 5), (10, k) and (–5, 1) are 
collinear, then k is equal to 
(a) 3 (b) 5 
(c) 7 (d) 9 

 

 88. ;fn fcUnq (5, 5), (10, k) rFkk (–5, 1) lejs[kh; gksa] 
rks k cjkcj gS 
(a) 3 (b) 5 
(c) 7 (d) 9 

 

89. The equation to the straight line passing 
through the point of intersection of the lines 
5 6 1 0x y    and 3 2 5 0x y    and 

perpendicular to the line 3 5 11 0x y    is 

(a) 5 3 8 0x y    (b) 3 5 8 0x y    

(c) 5 3 11 0x y    (d) 3 5 11 0x y    
 

 89. js[kkvksa 5x 6y 1 0    rFkk 3x 2y 5 0    ds 
izfrPNsn fcUnq ls gksdj xqtjus okyh rFkk js[kk 
3x 5y 11 0    ij yEc ljy js[kk dk lehdj.k gS 

(a) 5 3 8 0x y    (b) 3 5 8 0x y    

(c) 5 3 11 0x y    (d) 3 5 11 0x y    
 

90. The inclination of the straight line passing 
through the point (–3, 6) and the midpoint of 
the line joining the point (4, –5) and (–2, 9) 
is 
(a) /4 (b) /6 
(c) /3 (d) 3/4 

 

 90. ml ljy js[kk dh izo.krk ¼<ky½ D;k gksxh] tks fcUnq 
(–3, 6) ls rFkk fcUnqvksa (4, –5) o (–2, 9) dks feykus 
okyh js[kk ds e/; fcUnq ls xqtjrh gS 

(a) / 4  (b) / 6  
(c) /3 (d) 3/4 

 

91. One vertex of the equilateral triangle with 
centroid at the origin and one side as 

2 0x y   is 

(a) ( 1, 1)   (b) (2,2)  

(c) ( 2, 2)   (d) None of these 
 

 91. ;fn fdlh leckgq f=Hkqt dk dsUæd (0, 0) ,oa ,d 
Hkqtk x y 2 0    gks] rks mldk ,d 'kh"kZ gksxk 

(a) ( 1, 1)   (b) (2,2)  

(c) ( 2, 2)   (d) buesa ls dksbZ ugha 
 

92. The medians AD and BE of a triangle with 
vertices (0, ), (0, 0)A b B  and ( , 0)C a  are 
perpendicular to each other, if 
(a) 2a b  (b) 2a b   

(c) Both A; and B; (d) None of these 
 

 92. f=Hkqt] ftlds 'kh"kZ A (0, b), B (0, 0)  o C (a, 0)  gSa] 
dh ekf/;dk;sa AD rFkk BE ijLij yEcor~ gksaxh] 
;fn 
(a) a 2 b  (b) a 2 b   

(c) nksuksa A; o B; (d) buesa ls dksbZ ugha 
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93. For what values of a and b the intercepts cut 
off on the coordinate axes by the line 

8 0ax by    are equal in length but 
opposite in signs to those cut off by the line 
2 3 6 0x y    on the axes 

(a) 
8

, 4
3

a b    (b) 
8

, 4
3

a b     

(c) 
8

, 4
3

a b   (d) 
8

, 4
3

a b    
 

 93. a vkSj b ds fdu ekuksa ds fy, js[kk ax by 8 0  
}kjk v{kksa ij dVs vUr%[k.M] js[kk 2x 3y 6 0  
}kjk dVs vUr%[k.Mksa dh yEckbZ esa cjkcj ,oa fpUgksa 
esa foijhr gksaxs 

(a) 
8

a , b 4
3

    (b) 
8

a , b 4
3

     

(c) 
8

, 4
3

a b   (d) 
8

, 4
3

a b    
 

94. The sides , ,AB BC CD  and DA of a 
quadrilateral are 2 3, 1,x y x  

3 4,x y   5 12 0x y    respectively.  
The angle between diagonals AC and BD is   
(a) 45o  (b) 60o  
(c) 90o  (d) 30o  

 

 94. fdlh prqHkqZt dh Hkqtkvksa AB, BC,CD  o DA  ds 
lehdj.k Øe'k% x 2y 3, x 1,  
x 3y 4,  5x y 12 0    gSa] rks fod.kZ AC  o 
BDds chp dks.k gksxk 
(a) 45o  (b) 60o  
(c) 90o  (d) 30o  

 

95. Equation of the tangent to the circle 
2 2 2x y a  which is perpendicular to the 

straight line y mx c  is 

(a) 21
x

y a m
m

     (b) 2  1x my a m     

(c) 21 (1 / )x my a m     (d) 21x my a m     
 

 95. o`Ùk 2 2 2x y a  dh Li'kZ js[kk dk lehdj.k tks fd 
ljy js[kk y mx c  ds yEcor~ gS] gksxk 

(a) 21
x

y a m
m

     (b) 2  1x my a m     

(c) 21 (1 / )x my a m     (d) 21x my a m     
 

96. If one end of a diameter of the circle 
2 2 4 6 11 0x y x y     be (3, 4), then the 

other end is 
(a) (0, 0) (b) (1, 1) 
(c) (1, 2) (d) (2, 1) 

 

 96. ;fn oÙ̀k 2 2x y 4x 6y 11 0     ds O;kl dk ,d 
fljk  (3, 4) gks] rks nwljk fljk gksxk 
(a) (0, 0) (b) (1, 1) 
(c) (1, 2) (d) (2, 1) 

 

97. Consider the following statements:  
1. Variance is unaffected by change of 
origin and change of scale.  
2. Coefficient of variance is independent of 
the unit of observations.  
Which of the statements given above is/are 
correct?  

(a) 1 only  (b) 2 only  
(c) Both 1 and 2 (d) Neither 1 nor 2  

 

 97. fuEufyf[kr dFkuksa ij fopkj dhft,% 

1- izlj.k] ewyfcUnq ifjorZu vkSj Ldsy ifjorZu ls 

vizHkkfor jgrk gSA  

2- izlj.k xq.kkad] izs{k.kksa dh ;wfuV ls Lora= gksrk gSA 

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gaS@gSa\ 

(a) dsoy 1 (b) dsoy 2 
(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2 

 

98. If the normals at two points P and Q of a 
parabola 2 4y ax  intersect at a third point 
R on the curve, then the product of ordinates 
of P and Q is 
(a) 24a  (b) 22a  
(c) 24a  (d) 28a  

 

 98. ;fn ijoy; 2y 4ax ds nks fcUnqvksa P o Q ij [khaps 
x;s vfHkyEc oØ ij fdlh rhljs fcUnq R ij
çfrPNsn djrs gSa] rks P o Q dh dksfV;ksa dk xq.kuQy 
gS 
(a) 24a  (b) 22a  
(c) 24a  (d) 28a  
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99. If the eccentricity of the two ellipse 
2 2

1
169 25

x y
  and 

2 2

2 2
1

x y

a b
   are equal, then 

the value of /a b  is 
(a) 5/13 (b) 6/13 
(c) 13/5 (d) 13/6 

 

  
99. ;fn nks nh?kZ o`Ùkkas a

2 2x y
1

169 25
  rFkk

2 2

2 2

x y
1

a b
  dh 

mRdsUærk;sa cjkcj gks] rks a

b
 dk eku  gksxk 

(a) 5/13 (b) 6/13 
(c) 13/5 (d) 13/6 

 

100. If | | | |,  a b a b  then the angle between 
a and b is  
(a) Acute (b) Obtuse 

(c) 
2


 (d)   

 

 100. ;fn | | | |,  a b a b rks A vkSj B ds e/; dks.k gS& 

(a) U;wu dks.k (b) vf/kd dks.k 

(c) 
2


 (d)   

 

101. P is the point of intersection of the diagonals 
of the parallelogram ABCD. If O is any 

point, then   OA OB OC OD
   

 is equal to 

(a) OP


 (b) 2 OP


 

(c) 3 OP


 (d) 4 OP


 
 

 101. ABCD lekUrj prqHkqZt ds fod.kksZa dk izfrPNsn fcUnq 
P gSA ;fn 'O'  dksbZ fcUnq gS] rks 

  OA OB OC OD
   

 cjkcj gS] 

(a) OP


 (b) 2 OP


 

(c) 3 OP


 (d) 4 OP


 
 

102. 2 2 2| | | | | |    a i a j a k  is equal to 

(a) 2| |a  (b) 22 | |a  

(c) 23 | |a  (d) 24 | |a  
 

 102. 2 2 2| | | | | |    a i a j a k cjkcj gS 
(a) 2| |a  (b) 22 | |a  

(c) 23 | |a  (d) 24 | |a  
 

103. If C is the middle point of AB and P is any 
point outside AB, then 
(a) PA PB PC 

  
 (b) 2PA PB PC 

  
 

(c) 0PA PB PC  
  

 (d) 2 0PA PB PC  
  

 
 

 103. ;fn AB dk e/; fcUnq C vkSj AB ds ckgj dksbZ 
fcUnq P gS rks& 
(a) PA PB PC 

  
 (b) 2PA PB PC 

  
 

(c) 0PA PB PC  
  

 (d) 2 0PA PB PC  
  

 
 

104. If vector 2 3 6  a i j k  and vector 
2 2 ,   b i j k  then 

 Projection of vector  on vector 

Projection of vector  on vector 

a b

b a  
is equal 

to 

(a) 
3

7
 (b) 

7

3
 

(c) 3 (d) 7 
 

 104. ;fn lfn'k 2 3 6  a i j k  vkSj lfn'k 

2 2 ,   b i j k rks   

b

b a

a

 vfn'k dk lfn'k ij iz{kis .k 

lfn'k dk vfn'k  ij i{z ksi.k

cjkcj gS
 
 

(a) 
3

7
 (b) 

7

3
 

(c) 3 (d) 7 
 

105. The distance between the planes 
2 3 7 0x y z     and 2 4 6 7 0x y z     

is   
(a) 7

2 2
 

(b) 7

2
 

(c) 7

2
 

(d) 7

2 2
 

 

 105. leryksa x 2y 3z 7 0     rFkk 
2x 4y 6z 7 0     ds chp dh nwjh gS 
(a) 7

2 2
 

(b) 7

2
 

(c) 7

2
 

(d) 7

2 2
 

 

106. The co-ordinates of the foot of perpendicular 
drawn from the origin to the line joining the 
points (–9, 4, 5) and (10, 0, –1) will be  
(a) (– 3, 2, 1) (b) (1, 2, 2) 
(c) (4, 5, 3) (d) None of these 

 

 106. ewyfcUnq ls fcUnqvksa (–9, 4, 5) rFkk (10, 0, –1) dks 
feykus okyh js[kk ij Mkys x;s yEc ds ikn ds 
funsZ”kkad gksaxs 
(a) (– 3, 2, 1) (b) (1, 2, 2) 
(c) (4, 5, 3) (d) buesa ls dksbZ ugha 
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107. The equation of the plane through the point 
(2, 1, 3)  and parallel to the lines 

1 2

3 2 4

x y z 
 


 and 

1 2

2 3 2

x y z 
 


 is  

(a) 8 14 13 37 0x y z     (b) 8 14 13 37 0x y z     

(c) 8 14 13 37 0x y z     (d) 8 14 13 37 0x y z     
 

 107. ml lery dk lehdj.k] tks fcUnq )3,1,2(  ls 

gksdj tkrk gS rFkk js[kkvksa 
x 1 y 2 z

3 2 4

 
 


 rFkk 

x y 1 z 2

2 3 2

 
 


ds lekUrj gS] gS 

(a) 8 14 13 37 0x y z     (b) 8 14 13 37 0x y z     

(c) 8 14 13 37 0x y z     (d) 8 14 13 37 0x y z     
 

108. The distance of the point (1, –2, 3) from the 
plane 5x y z    measured parallel to the 

line ,
2 3 6

x y z
 


is 

(a) 1 (b) 6/7 
(c) 7/6 (d) None of these 

 

 108. 
js[kk 

x y z

2 3 6
 


ds lekUrj ekih x;h] fcUnq      

(1, –2, 3) dh lery x y z 5    ls nwjh gS 

(a) 1 (b) 6/7 
(c) 7/6 (d) buesa ls dksbZ ugha 

 

109. Consider the following statements:  
1. The mean and median are equal in 
symmetric distribution. 
2. The range is the difference between the 
maximum value & the minimum value in 
the data. 
3. The sum of the areas of the rectangles in 
the histogram is equal to the total area 
bounded by the frequency polygon and the 
horizontal axis.  
Which of the above statements are correct?  
(a) 1 and 2 only  (b) 2 and 3 only  
(c) 1 and 3 only  (d) 1, 2 and 3  

 

 109. fuEufyf[kr dFkuksa ij fopkj dhft,% 

1- lefer caVu esa ek/; vkSj ekf/;dk cjkcj gksrs gSaA 

2- nŸk ¼MsVk½ esa vf/kdre eku vkSj U;wure eku ds 

chp dk varj ifjlj ¼jsat½ gksrk gSA  

3- vk;r&fp= esa vk;rksa ds {ks=Qyksa  dk ;ksxQy] 

ckjackjrk cgqHkqt vkSj {kSfrt v{k }kjk ifjc) dqy 

{ks=Qy ds cjkcj gksrk gSA  

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3 

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3 
 

110. If 2sin sin 1x x  , then the value of 
12 10 8 6cos 3cos 3cos cos 2x x x x     is 

equal to 
(a) 0 (b) 1 
(c) –1 (d) 2 

 

 110. ;fn 2sin sin 1x x  , rks  
12 10 8 6cos 3cos 3cos cos 2x x x x     cjkcj gS 

(a) 0 (b) 1 
(c) –1 (d) 2 

 

111. The mean of the series 1 2 nx , x ,...., x is X . If 

x2 is replaced by  , then what is the new 
mean?  

(a) 2X x    (b) 2X x

n

 
 

(c) 2X x

n

  
 (d) 2nX x

n

  
 

 

 111. Js.kh 1 2 nx , x ,...., x  dk ek/; X gSA ;fn 2x dks 
}kjk izfrLFkkfir fd;k tkrk gSa] rks u;k ek/; D;k 
gksxk\ 

(a) 2X x    (b) 2X x

n

 
 

(c) 2X x

n

  
 (d) 2nX x

n

  
 

 

112. The sum of the integers from 1 to 100 which 
are not divisible by 3 or 5 is 
(a) 2489 (b) 4735 
(c) 2317 (d) 2632 

 

 112. 1 o 100 ds chp ds mu lHkh iw.kkZdksa dk ;ksxQy tks 
fd 3 o 5 ls foHkkftr u gksa 
(a) 2489 (b) 4735 
(c) 2317 (d) 2632 

 

113. In ,ABC if cot ,cot ,cotA B C be in A. P., 

then 2 2 2,  ,  a b c  are in 

(a) H. P. (b) G. P. 
(c) A. P. (d) None of these 

 

 113. ABC  esa] ;fn cot A,cot B,cot C lekUrj Js.kh esa 
gSa] rks 2 2 2a ,  b ,  c  

(a) gjkRed Js.kh esa gksaxs (b) xq.kksÙkj Js.kh esa gksaxs 
(c) lekUrj Js.kh esa gksaxs (d) buesa ls dksbZ ugha 
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114. Marks obtained by 7 students in a subject 
are 30, 55, 75, 90, 50, 60, 39. The number of 
students securing marks less than the mean 
marks is  
(a) 7 (b) 6 
(c) 5 (d) 4 

 

 114. 7 Nk=ksa }kjk fdlh fo"k; esa izkIr vad 30] 55] 75] 
90] 50] 60] 39 gSA vkSlr vadksa ls de vad izkIr 
djus okys Nk=ksa dh la[;k&  
(a) 7 (b) 6 
(c) 5 (d) 4 

 

115. Twenty tickets are marked the numbers 1, 2, 
..... 20. If three tickets be drawn at random, 
then what is the probability that those 
marked  7 and 11 are among them 

(a) 
3

190
 (b) 

1

19
 

(c) 
1

190
 (d) None of these 

 

 115. chl fVdVksa ij vad 1, 2, ..... 20 vafdr gSaA ;fn 
rhu fVdV ;nP̀N;k fudkys tk;sa rks fudkys x;s 
fVdVksa esa 7 rFkk 11 vafdr fVdVsa 'kkfey gksus dh 
çkf;drk gS 

(a) 
3

190
 (b) 

1

19
 

(c) 
1

190
 (d) buesa ls dksbZ ugha 

 

116. Given vertices (1,1), (4, 2)A B  and 
(5,5)C of a triangle, then the equation of the 

perpendicular dropped from C to the interior 
bisector of the angle A is 
(a) 5 0y    (b) 5 0x    
(c) 5 0y    (d) 5 0x    

 

 116. ;fn f=Hkqt ds 'kh"kZ A(1,1), B(4, 2)  o C(5,5)  gSa] 
rks C ls A ds vUr%lef}Hkktd ij Mkys x;s yEc 
dk lehdj.k gS 
(a) y 5 0   (b) x 5 0   
(c) y 5 0   (d) x 5 0   

 

117. 
2

1

( 1)( 1)
dx

x x 
 
is equal to 

(a) 2 11 1 1
log( 1) log( 1) tan

2 4 2
x x x c    

 
(b) 2 11 1 1

log( 1) log( 1) tan
2 4 2

x x x c    
 

(c) 2 11 1 1
log( 1) log( 1) tan

2 2 2
x x x c    

 
(d) None of these 

 

 117. 
2

1

( 1)( 1)
dx

x x 
 
cjkcj gS 

(a) 2 11 1 1
log( 1) log( 1) tan

2 4 2
x x x c    

 
(b) 2 11 1 1

log( 1) log( 1) tan
2 4 2

x x x c    
 

(c) 2 11 1 1
log( 1) log( 1) tan

2 2 2
x x x c    

 
(d) buesa ls dksbZ ugha 

 

118. 1
1

1
cos

d x x

dx x x








 is equal to 

(a) 2

1

1 x
 (b) 2

1

1 x




 

(c) 2

2

1 x
 (d) 2

2

1 x




 
 

 118. 1
1

1
cos

d x x

dx x x








 cjkcj gS 

(a) 2

1

1 x
 (b) 2

1

1 x




 

(c) 2

2

1 x
 (d) 2

2

1 x




 
 

119. The arithmetic mean of numbers a, b, c, d, e 
is M. What is the value of 
         a M b M c M d M e M         ? 

(a) M (b)    a b c d e  
(c) 0 (d) 5M 

 

 119. la[;kvksa a, b, c, d, e lekUrj ek/; M gSA 
         a M b M c M d M e M          

dk eku  gksxk&  
(a) M (b)    a b c d e  
(c) 0 (d) 5M 

 

120. What is the binary number equivalent of the 
decimal number 32.25?  
(a) 100010.10 (b) 100000.10 
(c) 100010.01 (d) 100000.01 

 

 120. n'keyo la[;k 32-25 ds lerqY; f}vk/kkjh la[;k 
D;k gksxk& 
(a) 100010.10 (b) 100000.10 
(c) 100010.01 (d) 100000.01 
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SPACE FOR ROUGH WORK 
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